1. Common costs:

Can EETT please describe the source data calculation underlying the 28.9% mark-up used for
overhead costs in the model? Our understanding is that it has been derived in a previous
costing exercise. Given how the value is applied in the draft model, we assume that the
mark-up has been calculated using a ratio of the form:

(Overhead Costs)/(Total Costs - Overhead Costs)

We are therefore seeking to understand:
- How have the “overhead” and “total” costs been measured (is it annualised
capital costs plus operating costs, or possibly book value, or replacement cost?)

Amavtnon:

Ta overheads umtoAoyilovtal w¢ mTooooTO €L TNG APXLKNG EMEVEUONG 00OV adopd Ta
capital costs pe to MOOO AUTO va emuueplleTol OTO £TN KOL WG TTOCOOTO ETL TOU
£TN0LOU AELTOUPYLIKOU KOOTOUG 000V adopd ta operational costs.

- What is the total cost base being included (e.g. is it only the network facilities of
a fixed operator, or is it for the entire business of a fixed operator including the
retail arm, or does it include the mobile business)?

Amavtnon:

To OUVOAKO KOOTOG TMepAapPBavel MEpa amd To KOOTOC UAomoinong tou Siktuou
MPOCoPAONG KAl TA AmapaitnTa XovOopIKA KOOTN e Ta omoio emiBapUveTal £vag
TLAPOXOC yLla TNV opaAr Aettoupyia Tou Siktuou otabeprc eupulwvikng mpodaPaong.

- What kinds of costs are included in the overhead costs? For example, is it some
or all of the 8 cost categories listed under “Indirect access costs” and some or all
of the 12 categories listed under “Indirect other costs and direct other costs”?*

Amnavtnon:

OL Kkatnyopieg mou avodEpovtol OTOUC TVOKEC TOU EPWTNUATOAOYIOU TTOU
amooTAAONKE 0TOUG MAPOXOUG KATA TN cUAAOYN TMANPOPOPLWV EVaL OL EVOELKTLKEC
KOTNYOopLleC , He oTOXO va amoteAécouv évav 06nyo evomoinong twv dedopévwy. Ta
Sebopéva Opwe ta omoia eAfipOnoav Sev enetpsav tn oUykplon/opoyevomoinon
TOUC KOlL WG €K TOUTOU, eV KATEDSTN SuVATO OAEG OL Katnyopieg va cupmepAndBouv
LLOL TPOC HILOL O JLaL VEVLIKN Kotnyopla overheads. EMOMEVWE aUTO TIOU KAAEiTOL va
afloloynBel elval To cUvoho Tou Xpnuatikol Toool To omolo amodibstal otnv
katnyopia Overheads, to omoio kpivetal peaAlotikd dedopévou tou peyéBouc Tou
vAoTmoloUpevou UToOETLKOU TTAPOXOU.

! These categories are listed in the file named “PC_NGA_Bottom_UP_specs_b_EL” (pages 3
and 4) published at
https://www.eett.gr/opencms/export/sites/default/admin/downloads/Consultations/telec
oms/analysi_agoron/PC NGA Bo ttom UP specs b EL.zip.



https://www.eett.gr/opencms/export/sites/default/admin/downloads/Consultations/telecoms/analysi_agoron/PC_NGA_Bottom_UP_specs_b_EL.zip
https://www.eett.gr/opencms/export/sites/default/admin/downloads/Consultations/telecoms/analysi_agoron/PC_NGA_Bottom_UP_specs_b_EL.zip
https://www.eett.gr/opencms/export/sites/default/admin/downloads/Consultations/telecoms/analysi_agoron/PC_NGA_Bottom_UP_specs_b_EL.zip

2. WACC:

Can EETT please confirm how the levered (equity) beta is derived for the WACC used in the
model? Our understanding is that an unlevered (asset) beta for “Telecom Services” in
Western Europe was taken from the 2019 Damodaran dataset. We understand that this beta
has then been levered based on the assumed gearing of 53.89%. The documentation also
indicates further adjustments have been made based on a ratio of foreign equity to equity
and the nominal tax rate. Can EETT please set out the calculation and input values used to
derive this beta in full? Second, can EETT please confirm how the gearing is calculated? Our
understanding is that it is calculated using the formula D/(D+E), calculated based on the
financial statements for 2017 of OTE (fixed business only), Vodafone Greece (total business)
and Wind Greece (total business).

In particular, D= year-average long-term borrowed funds added up from OTE fixed,
Vodafone Greece and WIND Greece. E = year-average equity added up from OTE fixed,
Vodafone Greece and Wind Greece. Is this correct?

Amavtnon:

To levered (equity) beta mou xpnotpomnotnOnke yia Tov untoAoylopo tou WACC sivat
0 H€oog Opog Tou levered (equity) beta Twv etatpewwv OTE AE, Vodafone kot WIND.
To levered (equity) beta ava etalpeia umoloyiotnke ylo kaBe etalpeio pe Baon tov
akoAouBo Tumo:

Levered (equity) beta = asset beta (1+ (1-t) (D/E))

Ornou:

asset beta: n tiun yla to asset beta tou kKAadou «Telecom Services» amo TNV OXETLKN
pueAétn tou Dr Damodaran (0,73 cUudwva pe otoeia lavouapiou 2019),

t=28% (ovopaoTIKOG CUVTEAEOTAC POPOU yLa To €to¢ 2019),

evw ta D kal E mpooSlopiotnkav cupudwva pe ta avadpepOUeVa 0TO KEIPEVO TNC AA.

To D/(D+E) mou xpnotuormnoteitat yta tov urtohoytopd tou WACC, sivat o péocog 6pog
tou D/(D+E) twv etapswwv OTE AE, Vodafone-Panafon kat WIND EAAAS
THAEMIKOINQNIEZ AEBE. H oxetikn TWuA ywo kaBe stalpeia €xel Baolotel oOTLg
OLKOVOULKEG KATAOTAOCELG £TOUG 2017 £18IKOTEPO OTO UECO OPO TWV TIUWV EVOPENG
Kat Anéng tou £€toug 2017. Itnv mepintwon tng Vodafone €xel xpnotpomotnBel n
Etnola Xpnuatoolkovouiky EkBeon 2018 mou adopd to Sidotnuo 1/4/2017-
31/3/2018 kat €xeL xpnolpomnotlnBel avtiotoya o HECOG OPOC TIHWV Evapeng Ko
ARENg pe Baon ta otolyeia TNG ev Adyw XpnUATOOLKOVOULKAC €KBe0NG.

3. Unit costs

Can EETT please confirm what the trench/cable asset costs in the draft model are
assumed to include? We have summarised our current understanding in the table
below: can EETT please correct/complete the table?



Asset Costs included for copper-related |Costs included for fibre-related assets
assets
Feeder trench
- Digging costs Is this the same as the copper-related
- Reinstatement costs asset? We note that the unit cost is
- 350mm ducts different
- Was there also an
assumption on direct buried?
If so, please describe. Please
complete
Distribution
trench
- Digging costs Is this the same as the copper-related
- Reinstatement costs asset? We note that the unit cost is
- 240mm ducts different.
- Please complete
Drop trench
Please complete s this the same as the copper-related
asset? We note that the unit cost is
different.
Cables
- Direct cost of the cable - Direct cost of the cable
- Cost of cable deployment - Cost of cable deployment
- Please complete - Cost of fibre splicing
- Please complete
Amnavtnon:
Kootn omtikol Siktuou Kootn Siktuou xahkou
Feeder xavtakL

3x 50mm cwWANVWOELG

1x40mm DBF (1x8 uTto-
OWANVWOELG) AUECNC TOPNC

1x110 mm CWANVWOELG




Distribution
XQVTAKL 2x40mm CWANVWOELSG

3x50mm CWANVWOELG
1x40mm DBF (1x8 umo-

owAnvwoelg) direct buried

Drop Xavtaxt

1x5mm cwAnvwon 1x10mm cwAnvwon

KoAwdia 2,4,8,12,24, 48,96, 8x96 ivec | 2, 4, 10, 20, 50, 100, 200, 400, 1000,
2000 Zevyn xaAkoU

To KOOTOC XOVTOKLWY EIVaL TO CUVOALKO Kal TIEPIAAUBAVEL XWUATOUPYLIKA EKOKAPNC,
dpedTIO, CWANVWOELG-ULKPOOWANVWOELG, XWHUOTOUPYLKA OIOKATAOTAONG, TALVIEC
onuavong Kot OAo Ta TOPeAKOUEVO  SlooUvdeonC OWANVWOEWV. To KOOTOG
KoOAwSiwv mephapBavel KO0ToG KaAwdiou, TomoBETnon, UETPOELG, TTIAPEAKOUEVQ
SLakAadwoewv, KOAMNAOELC KOl TEPUATLOUOUC.




